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QUESTION 1

You are expanding the capacity of a Hybrid VxRail by creating an additional disk group. The new disk group will be
composed of five drives on all participating cluster nodes. When you attempt to add the new disks to the vSAN
datastore you receive an error message about there being no cache tier available. 

What is the likely cause? 

A. vSAN supports disk groups with four drives or fewer 

B. Cluster requires vSAN Advanced or Enterprise license upgrade 

C. You attempted to add the disks to the existing disk group 

D. All the drives are labeled as HDDs 

Correct Answer: D 

 

QUESTION 2

In addition to the VxRail YouTube video, links to what resources should the SE send to the customer, according to the
VxRail PEQ Engagement Details worksheet? 

A. VxRail vCenter Server Planning Guide VxRail Network Guide 

B. VxRail QuickStart Guide VxRail Network Guide 

C. VxRail vCenter Server Planning Guide Network Validation Tool 

D. VxRail QuickStart Guide Network Validation Tool 

Correct Answer: D 

 

QUESTION 3

In a 24 node Stretched Cluster VxRail deployment, what is the acceptable Rout Trip Time (RTT) latency between sites? 

A. Primary to witness site RTT latency: 10 msSecondary to witness site RTT latency: 10 msPrimary tosecondary site
RTT latency: 10 ms 

B. Primary to witness site RTT latency: 50 msSecondary to witness site RTT latency: 50 msPrimary to secondary site
RTT latency: 6 ms 

C. Primary to witness site RTT latency: 75 msSecondary to witness site RTT latency: 75 msPrimary to secondary site
RTT latency: 1 ms 

D. Primary to witness site RTT latency: 75 msSecondary to witness site RTT latency: 150 msPrimary to secondary site
RTT latency: 5 ms 

Correct Answer: A 
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https://www.emc.com/collateral/white-papers/h15275-vxrail-planning-guide- virtual-san-stretched-cluster.pdf(page 6) 

 

 

QUESTION 4

A VxRail Cluster setup with P570F nodes is used for product evaluation purposes at customer sites. Before moving the
Cluster to another customer site, it needs to be reset. 

Where is the image located to complete this task? 

A. SATADOM 

B. IDSDM 

C. BOSS 

D. MB Server 

Correct Answer: B 

 

 

QUESTION 5

A VxRail Stretched Cluster deployment will have E560F node. The Cluster must allow local protection with both erasure
coding options at either site. What is the minimum node configuration? 

A. 3+3 nodes 

B. 4+4 nodes 

C. 6+6 nodes 

D. 8+8 nodes 

Correct Answer: B 

 

 

QUESTION 6

View the Exhibit. 
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Based on the exhibit, which interfaces should be used to reset the node through the Mobile Build Server? 

A. 1 and 3 

B. 1 and 2 

C. 2 and 3 

D. 1, 2 and 3 

Correct Answer: A 

 

QUESTION 7

What is a requirement for Top-of-Rack (ToR) switches when deploying a VxRail cluster? 

A. Must be manufactured by Dell, Cisco, or Brocade 

B. Must support IPv6 Multicast 

C. Must have two switches in the cluster 

D. Must support 25GbE connectivity 

Correct Answer: B 

 

QUESTION 8

When validating the VxRail health just after the VxRail initial configuration, there is a red exclamation mark on the
MARVIN-Virtual-SAN-Cluster and the reported health alarm is `Component metadata health\\'. A "Retest" action in the
health service panel is performed and all the nodes in the cluster show health status as failed with the invalid state.
Investigation does not reveal any hardware issues with the disks in use by vSAN. What action should be taken next? 

A. Wait 24 hours, then click the "Retest" button again 

B. Apply the vSphere ESXi600-201611001 patch, then click the "Retest" button again 

C. Evacuate and destroy the disk/disk group that contains the component(s) reporting errors and clear the alarm 

D. Reapply the MARVIN storage policy to the VxRail internal virtual machines 

Correct Answer: D 
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QUESTION 9

You have been asked to install a 7 node VxRail single socket 1 GbE G Series cluster. The company has requested
remote KVM support. How many RJ45 cables will be required? 

A. 14 

B. 21 

C. 28 

D. 35 

Correct Answer: A 

https://www.emc.com/collateral/technical-documentation/h15104-vxrail- appliance-techbook.pdf 

 

QUESTION 10

The vSAN health check is reporting errors about the stats.db object. What could be a possible cause of this problem? 

A. vSAN performance service is not enabled on one of the ESX nodes 

B. vSAN health service is disabled 

C. There are inaccessible/unhealthy vSANobjects 

D. vSAN performance service is not enabled 

Correct Answer: D 

 

QUESTION 11

A company has chosen to deploy an external vCenter/PSC. They would like to use the bundled vCenter license that
comes with VxRail. 

What is the correct procedure to do this? 

A. Contact EMC Licensing to have a replacement vCenter license generated.Next, license the newly created
vCenter.Last, deploy VxRail with external vCenter. 

B. Contact VMware Licensing to have a replacement vCenter license generated.Next, license the newly created
vCenter.Last, deploy VxRail with external vCenter. 

C. Log into VxRail Manager through SSH and extract the vCenter license key from the application properties file.Next,
license the newly created vCenter.Last, deploy VxRail with external vCenter. 

D. Bundled vCenter license is only valid when vCenter is internally deployed. The company must provide their own
vCenter license. 

Correct Answer: D 
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QUESTION 12

A workstation is being configured on the management VLAN (10.150.140.0/24) to connect to VxRail Manager for first
time deployment. 

Configuring which IP addresses on the workstation will result in a successful deployment without having to change them
during initialization? 

A. 192.168.1.199 and 10.150.140.100 

B. 192.168.1.250 and 10.150.140.255 

C. 192.168.10.199 and 10.150.140.255 

D. 192.168.10.250 and 10.150.140.250 

Correct Answer: A 

 

 

QUESTION 13

Which network traffic types require the specification of a VLAN ID in the VxRail Pre- Installation Site Checklist? 

A. Fault Tolerance, vMotion, vSAN, and user VM Network 

B. Management, vMotion, and vSAN only 

C. Management, vMotion, vSAN, and user VM Network 

D. vMotion, vSAN, and user VM Network only 

Correct Answer: B 

 

QUESTION 14

When populating the VxRail First Run Wizard for an External vCenter solution what is the recommended format for
hostnames? 

A. vCenter, PSC, and VxRail Manager use host name only 

B. vCenter and PSC use FQDN; VxRail Manager uses host name onl 

C. VxRail Manager and vCenter use FQDN; PSC uses host name only 

D. vCenter. PSC, and VxRail Manager use FQDN 

Correct Answer: A 
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QUESTION 15

A failure occurs during the deployment of a VxRail cluster. You need to look through the marvin.log file to see what
could be causing the error. Where is this file located? 

A. var/log/vmware/marvin 

B. var/log/vmware 

C. var/log/vmware/marvin/tomcat/logs 

D. var/log/mystic 

Correct Answer: C 

Reference: https://www.javydekoning.com/vxrail-monitoring-managing/ 
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